= 31
: TRew, CRF. FHEENY<F sanvo)
Tieeall [Knany! [ ] ®E3=1/3996 H#EZE =  #)500% - # 100.0%(5T=120)
EHHR=STH /1200 - BEE /100E EIK=323&3&10&14&14
W RS- 2L (R] e =1/1998 FEZE = - #63.0% - #* 100.0%(ST=120)

FEHR=-STHh /1208 - @EHE /100[@ EFk=18283&10&15&15
MR AT —---8(H

BB BT = — @il
W77 FEE--HY
/Y.L
MR- L1TH

[MAX HHE]

[ (k- TviiE 1448 /9C)
‘+7 +TFIR--- 936{@
FE10 R:--1,170 {&
‘FE 10+ F1R---1,287 {@
‘+ 15+ F1R---1872 {&

[RI( k- Fv#iE15{@E /8C)
k=4 R--- 448 {#
‘FE 4+ T 1R+ 560 {F
'+ 14+ F 1R+ 1,680 {&

[e)e)

00

o]
000000
00000

WiEE B OtEE
ST IV R >

W
(SEBLET—V]

<SEREMEMN= 5 E>

TR, [EAMER] CBRoET. (A EM] Tof I ET. Presented by TKC (HBE&# F—# - /7« axfiarX)




